Electronics Il Exam-2 2021/4/30  Solution
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Let /, =2mA, :>R2+R3=—O=%=6k§2
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Then 1.143R, +R, =6, = R, =2.8kQ and R, =3.2kQ

R, =6k, I, =12/6=2mA
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Forvo =5V, L =5/20=025A

Then, for /5 = 0.05 A when vy = 0, we have
2 2
V V
fmzﬂmzx(jﬂ—mo::mm{gﬂ—q

which yields
Vgp/2 =150V

Vg =3V
(b)
The input voltage for vy positive 1s
Vig
Vp = Vo + VGsn — N

Forvpg =5V andip, =i; = 0.25 A, we have

Jum*+|v | ,K&254-1 212V
Ugsn =4 — =3 7= = L.
s K r 0.20

The source-to-gate voltage of M, is

Uﬂﬂp = LI.B'E - LIGS“ — 3 —_ 2-12 == ”.ESV
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